

Characteristic matrixLet  $A = [a_{ij}]$  bea square matrix.  $\lambda$  be any scalar. $I$  be a unit matrix of order  $n$ . $\therefore A - \lambda I$  is the characteristic matrix.Characteristic equation $|A - \lambda I| = 0$  is characteristic equation of  $A$ .Characteristic roots / latent roots / eigen valuesRoots of  $|A - \lambda I| = 0$  are eigen values of  $A$   
i.e. different values of  $\lambda$  are eigen values of  $A$ .Eigen vectorsIf  $\lambda$  is an eigen value  
of  $A$  then  $\exists$  a non zero vector  $X$  suchthat  $A X = \lambda X$ . $X$  is called eigen vector of  $A$  corresponding  
to eigen value  $\lambda$ .

# M3 APRICES

## CAYLEY - HAMILTON THEOREM

Statement: Every square matrix satisfies its own characteristic equation.

Proof: Let  $A = \begin{bmatrix} a_{ij} \end{bmatrix}_{n \times n}$  be a square matrix.

$$\text{ie. } A = \begin{bmatrix} a_{11} & a_{12} & a_{13} & \dots & a_{1n} \\ a_{21} & a_{22} & a_{23} & \dots & a_{2n} \\ \dots & \dots & \dots & \dots & \dots \\ a_{n1} & a_{n2} & a_{n3} & \dots & a_{nn} \end{bmatrix}$$

Let  $I$  be a unit matrix of order  $n \times n$ .

Let  $\lambda$  be a scalar.

$$\Rightarrow A - \lambda I = \begin{bmatrix} a_{11} - \lambda & a_{12} & a_{13} & \dots & a_{1n} \\ a_{21} & a_{22} - \lambda & a_{23} & \dots & a_{2n} \\ \dots & \dots & \dots & \dots & \dots \\ a_{n1} & a_{n2} & a_{n3} & \dots & a_{nn} - \lambda \end{bmatrix}$$

$$\Rightarrow |A - \lambda I| = \begin{vmatrix} a_{11} - \lambda & a_{12} & a_{13} & \dots & a_{1n} \\ a_{21} & a_{22} - \lambda & a_{23} & \dots & a_{2n} \\ \dots & \dots & \dots & \dots & \dots \\ a_{n1} & a_{n2} & a_{n3} & \dots & a_{nn} - \lambda \end{vmatrix}$$

$$\Rightarrow |A - \lambda I| = (-1)^n [\lambda^n + p_1 \lambda^{n-1} + p_2 \lambda^{n-2} + \dots + p_n]$$

of  $|A - \lambda I| = 0$  then

$$\lambda^n + p_1 \lambda^{n-1} + p_2 \lambda^{n-2} + \dots + p_n = 0 \quad \text{--- (1)}$$

Eqn (1) is the characteristic equation of A.

we've to prove that A satisfies its own characteristic equation.

Let  $\lambda = A$  satisfies the characteristic eqn.

Putting  $\lambda = A$  in (1), we get

$$A^n + p_1 A^{n-1} + p_2 A^{n-2} + \dots + p_n I = 0$$

where 0 is a zero matrix of order n.

Also, adjoint  $(A - \lambda I)$  can be expressed as a matrix polynomial in  $\lambda$  given by

$$\text{adj}(A - \lambda I) = B_0 \lambda^{n-1} + B_1 \lambda^{n-2} + \dots + B_{n-1}$$

where  $B_0, B_1, \dots, B_{n-1}$  are  $n \times n$  matrices, whose elements are functions of elements  $a_{ij}$ 's.

$$\text{Since, } A (\text{adjoint}) A = |A| I$$

$$\Rightarrow (A - \lambda I) \text{adjoint}(A - \lambda I) = |A - \lambda I| I$$



$$\Rightarrow (A - \lambda I) \left[ B_0 \lambda^{n-1} + B_1 \lambda^{n-2} + B_2 \lambda^{n-3} + \dots + B_{n-1} \right]$$

$$= (-1)^n \left[ \lambda^n + p_1 \lambda^{n-1} + p_2 \lambda^{n-2} + \dots + p_n \right] I$$

Comparing the coefficients of different powers of  $\lambda$  i.e.  $\lambda^n, \lambda^{n-1}, \dots$ , we get-

$$-B_0 = (-1)^n I$$

$$AB_0 - IB_1 = (-1)^n p_1 I$$

$$AB_1 - IB_2 = (-1)^n p_2 I$$

$$\dots$$

$$AB_{n-1} = (-1)^n p_n I$$

Pre-multiplying the above by  $A^n, A^{n-1}, A^{n-2}, \dots, I$  respectively and adding we get-

$$-A^n B_0 + A^{n-1} (AB_0 - IB_1) + A^{n-2} (AB_1 - IB_2) + \dots$$

$$+ I AB_{n-1} = (-1)^n \left[ A^n + p_1 A^{n-1} + p_2 A^{n-2} + \dots + p_n I \right]$$

$$\Rightarrow A^n + p_1 A^{n-1} + p_2 A^{n-2} + \dots + p_n I = 0$$

Hence, the matrix  $A$  satisfies its own characteristic equation.

Q. (a) Find the eigen values of  $A = \begin{bmatrix} 5 & 4 \\ 1 & 2 \end{bmatrix}$ .

Soln. characteristic eqn of A is

$$|A - \lambda I| = 0, \text{ where } \lambda \text{ is any indeterminate.} \\ \text{--- (1)}$$

$$\Rightarrow A - \lambda I = \begin{bmatrix} 5 & 4 \\ 1 & 2 \end{bmatrix} - \lambda \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} 5 & 4 \\ 1 & 2 \end{bmatrix} - \begin{bmatrix} \lambda & 0 \\ 0 & \lambda \end{bmatrix} \\ = \begin{bmatrix} 5 - \lambda & 4 \\ 1 & 2 - \lambda \end{bmatrix}$$

$$\text{From (1)} \quad \begin{vmatrix} 5 - \lambda & 4 \\ 1 & 2 - \lambda \end{vmatrix} = 0 \Rightarrow (5 - \lambda)(2 - \lambda) - 4 = 0$$

$$\Rightarrow \lambda^2 - 7\lambda + 10 - 4 = 0 \Rightarrow \lambda^2 - 7\lambda + 6 = 0$$

$$\Rightarrow (\lambda - 6)(\lambda - 1) = 0 \Rightarrow \lambda = 6, 1$$

Hence, eigen values of  $A = 6, 1$ .

Q. (b) Find the eigen vector of  $A = \begin{bmatrix} 5 & 4 \\ 1 & 2 \end{bmatrix}$ .

Soln Eigen values of  $A = 6, 1$ .

Let  $X = \begin{bmatrix} x_1 \\ x_2 \end{bmatrix}$  be the eigen vector of A

corresponding to the eigen value 6, i.e.  $\lambda = 6$ .

$$\therefore [A - \lambda I]x = 0$$

$$\Rightarrow \begin{bmatrix} 5-\lambda & 4 \\ 1 & 2-\lambda \end{bmatrix} x = 0 \quad \text{but } \lambda = 6$$

$$\Rightarrow \begin{bmatrix} 5-6 & 4 \\ 1 & 2-6 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = 0 \Rightarrow \begin{bmatrix} -1 & 4 \\ 1 & -4 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$

$$\Rightarrow \begin{bmatrix} -x_1 + 4x_2 \\ x_1 - 4x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \Rightarrow \begin{matrix} -x_1 + 4x_2 = 0 \\ \text{and } x_1 - 4x_2 = 0 \end{matrix}$$

$$\Rightarrow x_1 = 4x_2. \quad \text{If } x_2 = k \text{ then } x_1 = 4k.$$

Thus  $\begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 4k \\ k \end{bmatrix}$  is the eigen vector corresponding to  $\lambda = 6$ .

i.e.  $\begin{bmatrix} 4 \\ 1 \end{bmatrix}$ ,  $\begin{bmatrix} 8 \\ 2 \end{bmatrix}$  are some eigen vectors

when  $k=1, 2$  respectively, corresponding to  $\lambda=6$ .

$$\boxed{\text{When } \lambda = 1} \Rightarrow \begin{bmatrix} 5-\lambda & 4 \\ 1 & 2-\lambda \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = 0 \Rightarrow \begin{bmatrix} 4 & 4 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$

$$\therefore (A - \lambda I)x = 0$$

$$\Rightarrow \begin{bmatrix} 4x_1 + 4x_2 \\ x_1 + x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \Rightarrow \begin{matrix} 4x_1 + 4x_2 = 0 \text{ and} \\ x_1 + x_2 = 0 \end{matrix}$$

$$\Rightarrow x_1 + x_2 = 0 \Rightarrow x_1 = -x_2. \quad \text{when } x_2 = c \text{ then } x_1 = -c.$$

Thus  $\begin{bmatrix} -c \\ c \end{bmatrix}$  i.e.  $\begin{bmatrix} -1 \\ 1 \end{bmatrix}$ ,  $\begin{bmatrix} -2 \\ 2 \end{bmatrix}$  are the eigen vectors

corresponding to eigen value  $\lambda = 1$ .



Q

Find the eigen values of  $\begin{bmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{bmatrix}$

Solution

$$\text{Let } A = \begin{bmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{bmatrix}$$

Let  $I$  be a unit matrix of order  $3 \times 3$ .

$$\therefore A - \lambda I = \begin{bmatrix} 2 - \lambda & 2 & 1 \\ 1 & 3 - \lambda & 1 \\ 1 & 2 & 2 - \lambda \end{bmatrix}$$

The characteristic eqn of  $A$  is

$$|A - \lambda I| = 0$$

$$\Rightarrow \begin{vmatrix} 2 - \lambda & 2 & 1 \\ 1 & 3 - \lambda & 1 \\ 1 & 2 & 2 - \lambda \end{vmatrix} = 0$$

$$\Rightarrow (2 - \lambda) [(\lambda - 2)(\lambda - 3) - 2] - 2 [2 - \lambda - 1]$$

$$+ [2 - (3 - \lambda)] = 0$$

$$\Rightarrow (2 - \lambda) (\lambda^2 - 5\lambda + 4) + 2(\lambda - 1) + (\lambda - 1) = 0$$

$$\Rightarrow (\lambda - 1) [(2 - \lambda)(\lambda - 4) + 2 + 1] = 0$$

$$\Rightarrow (\lambda - 1) [-(\lambda^2 - 6\lambda + 8) + 3] = 0$$

$$\Rightarrow (\lambda - 1) [-\lambda^2 + 6\lambda - 5] = 0$$

$$\Rightarrow (\lambda - 1) (\lambda^2 - 6\lambda + 5) = 0$$

$$\Rightarrow (\lambda - 1) (\lambda - 5) (\lambda - 1) = 0$$

$$\Rightarrow \lambda = 1, 1, 5$$

Hence, the eigen values of the given matrix = 1, 1, 5.



Q.

Find the eigen values for the matrix  $A = \begin{bmatrix} 0 & 1 \\ -2 & 3 \end{bmatrix}$ . Also, verify Cayley-Hamilton theorem.

Solution

$$\text{Here, } A - \lambda I = \begin{bmatrix} 0 & 1 \\ -2 & 3 \end{bmatrix} - \lambda \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} -\lambda & 1 \\ -2 & 3-\lambda \end{bmatrix}$$

The characteristic eqn of  $A$  is

$$|A - \lambda I| = 0 \Rightarrow \begin{vmatrix} -\lambda & 1 \\ -2 & 3-\lambda \end{vmatrix} = 0$$

$$\Rightarrow -\lambda(3-\lambda) + 2 = 0 \Rightarrow -3\lambda + \lambda^2 + 2 = 0$$

$$\Rightarrow \lambda^2 - 3\lambda + 2 = 0 \Rightarrow \lambda = 1, 2 \quad \text{①}$$

So, the eigen values = 1, 2.

Now, to verify Cayley-Hamilton theorem, we shall verify, whether  $A$  satisfies its characteristic eqn (1) or not.

$$\text{Putting } \lambda = A \text{ in (1)} \Rightarrow A^2 - 3A + 2I = 0$$

$$\begin{aligned} \text{LHS} &= A^2 - 3A + 2I = \begin{bmatrix} 0 & 1 \\ -2 & 3 \end{bmatrix} \begin{bmatrix} 0 & 1 \\ -2 & 3 \end{bmatrix} - 3 \begin{bmatrix} 0 & 1 \\ -2 & 3 \end{bmatrix} + 2 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \\ &= \begin{bmatrix} -2 & 3 \\ -6 & 7 \end{bmatrix} - \begin{bmatrix} 0 & 3 \\ -6 & 9 \end{bmatrix} + \begin{bmatrix} 2 & 0 \\ 0 & 2 \end{bmatrix} = \begin{bmatrix} -2+2 & 3-3 \\ -6+6 & 7-9+2 \end{bmatrix} = \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix} \\ &= 0 \text{ (zero matrix)} = \text{RHS. Hence Cayley-Hamilton theorem is verified.} \end{aligned}$$

Q. Find the eigen values, eigen vectors  
~~and~~ for  $A = \begin{bmatrix} 1 & 4 \\ 2 & 3 \end{bmatrix}$ . Also,

verify Cayley-Hamilton theorem.

Soln  $A = \begin{bmatrix} 1 & 4 \\ 2 & 3 \end{bmatrix}$

$$\Rightarrow A - \lambda I = \begin{bmatrix} 1-\lambda & 4 \\ 2 & 3-\lambda \end{bmatrix}$$

characteristic eqn of A is

$$|A - \lambda I| = 0$$

$$\Rightarrow \begin{vmatrix} 1-\lambda & 4 \\ 2 & 3-\lambda \end{vmatrix} = 0 \Rightarrow \lambda^2 - 4\lambda + 3 - 8 = 0$$

$$\Rightarrow \lambda^2 - 4\lambda - 5 = 0 \Rightarrow (\lambda - 5)(\lambda + 1) = 0 \quad \text{①}$$

$$\Rightarrow \lambda = 5, -1$$

So, the eigen values of A = 5, -1

Verification of Cayley-Hamilton theorem

we've to prove that  $A^2 - 4A - 5I = 0$  [using ①]

$$\text{Now, } A^2 = \begin{bmatrix} 1 & 4 \\ 2 & 3 \end{bmatrix} \begin{bmatrix} 1 & 4 \\ 2 & 3 \end{bmatrix} = \begin{bmatrix} 9 & 16 \\ 8 & 17 \end{bmatrix}$$



$$\begin{aligned} \therefore A^2 - 4A - 5I &= \begin{bmatrix} 9 & 16 \\ 8 & 17 \end{bmatrix} - 4 \begin{bmatrix} 1 & 4 \\ 2 & 3 \end{bmatrix} - 5 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \\ &= \begin{bmatrix} 9-4-5 & 16-16-0 \\ 8-8-0 & 17-12-5 \end{bmatrix} \\ &= \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix} = 0 \text{ (Zero matrix)} \end{aligned}$$

Thus, Cayley Hamilton theorem is verified.  
For Eigen vectors Let  $X = \begin{bmatrix} x_1 \\ x_2 \end{bmatrix}$  is eigen vector corresponding to eigen value 5, i.e.  $\lambda = 5$ .

$$\begin{aligned} \therefore (A - \lambda I)X &= 0 \Rightarrow \begin{bmatrix} 1-5 & 4 \\ 2 & 3-5 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\ \Rightarrow \begin{bmatrix} -4x_1 + 4x_2 \\ 2x_1 - 2x_2 \end{bmatrix} &= \begin{bmatrix} 0 \\ 0 \end{bmatrix} \end{aligned}$$

$$\begin{aligned} \Rightarrow -4x_1 + 4x_2 &= 0 \text{ i.e. } x_1 = x_2 \\ \text{and } 2x_1 - 2x_2 &= 0 \Rightarrow x_1 = x_2 \end{aligned} \quad \therefore X = \begin{bmatrix} k \\ k \end{bmatrix}$$

Also, let  $X = \begin{bmatrix} x_1 \\ x_2 \end{bmatrix}$  be eigen vector corresponding to eigen value  $\lambda = -1$  where  $k$  is any constant.

$$\therefore (A - \lambda I)X = 0 \Rightarrow \begin{bmatrix} 1+1 & 4 \\ 2 & 3+1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$

$$\begin{aligned} \Rightarrow \begin{bmatrix} 2x_1 + 4x_2 \\ 2x_1 + 4x_2 \end{bmatrix} &= \begin{bmatrix} 0 \\ 0 \end{bmatrix} \Rightarrow 2x_1 + 4x_2 = 0 \Rightarrow x_1 = -2x_2 \\ \text{let } x_2 &= k \Rightarrow x_1 = -2k \Rightarrow \begin{bmatrix} -2k \\ k \end{bmatrix} \text{ is another eigen vector} \end{aligned}$$